APSC 380 : INTRODUCTION TO MICROCOMPUTERS
1998/99 WINTER SESSION TERM 2

Solutionsto Assignmentl

Question 1 10. " (256 | 0 )
" ( 0x0100 | 0x0030 )
The stepsinvolved in evaluatingthe C expressions ~ 0x130
areshavn below. Oxffecf
1. 4 * 7 . L _—
4* 32 (all leadingdigitsin theresultare“F”)
128 11. 4 (' ==0x21)
2. 31/ 5+7 400
6+ 7 1
13
_ . (thesecondxpressiorwould actuallybe“short
.y = (5 2 +53 ) =(6-1) circuited” andwould not be evaluated)
y = ==
y =1 .
1 Question 2
4. x=3=-3 +6 Theprogramwill incrementandprint theindex vari-
X =3 ==3 ableby 2 if theindex is betweerB and5 otherwiseit
x =1 incrementst by 1. It will print the following values
1 of i:
5. 9<=4+9/ 2 1
9<=4+4 2
9 <=8 3
0 5
6. ( Oxab & Oxf0 ) 7
Oxa0
Question 3
7. ( 0x2e & OxOf ) | ( Ox2e & Oxf0 ) sinclude  <stdio.h>
0x0e | 0x20 main()
Ox2e {
int i ;
8. 7* ( Ox0e && Oxe0 ) for (i=5 ; i<=75 ;1 =5 ) {
7 * 1 if i >= 25 && i <= 65) {
7 [* do nothing *
} else {
printt  ( "%d\n", i ) ;
9. (0x18 " Oxff ) +( 2<<1) }
Oxe7 + 4 }
Oxeb }
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Question 4

int lowerlen( char s[] )
{ int i, n;
n=20;
for (i =0, ] !=0,; i++ ) {
it (sl >='a &&s[] <=7 ) {
n++
}
}
return n;
}
Question 5
decimal binary | hex
4 0100| Ox4
3 0011| Ox3
32 100000 | 0x20
31 11111 | Oxif
128 | 10000000 | 0x80
127 | 01111111 | Ox7f
235| 11101011 | Oxeb
Question 6
binary | hex | decimal
1101 | OxOd 13
10011101 | Oxod 157
01000010 | Ox42 66
101100| Ox2c 44
01011110 Ox5e 94
Question 7
hex binary | decimal
Ox0a | 00001010 10
Oxa | 00001010 10
OxAA | 10101010 170
OxFA | 11111010 250
0x80 | 10000000 128
0x08 | 00001000 8




